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Errors

page 42, note after Lemma 2.5; and page 55, example 2.6. If A is a set and B is an atomic
boolean lattice, than (A — B) is an atomic boolean lattice, where the atoms are f, , in
(A — B) with z in A, @ an atom in B, and f, ..y = if x =y then a else 0 fi.

page 55, example 2.1. The order should be given dually. Instead of “m < n means that m is
divisible by n”, should be “m < n means that m divides n”.

page 103, figure 5.2. The naming of the independence properties in the figure is not the same
as in the text.

page 145, line 3. “where ~ is an arbitrary relation” should be replaced by “where ~ is an
arbitrary reflexive relation”.

page 270, Theorem 17.1(d). This should be
p{{R}} ¢ = pCdom.(lg; R7")

page 342-343. In the example, ((I + r)?) div 4 should be replaced by ((I + r) div 2)2.

Typos

page 195, line 22. In the set notation of angelic update, there is a superfluous “}” at the end.

Acknowledgements

We thank Martin Biichi, Orieta Celiku, Viorel Preoteasa, Hongseok Yang and Mingsheng Ying for
reporting erros and typos in the text.



